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#include <iostream>
using namespace std;

void main(void)
{
cout << "3 +4 =7" << endl;
cout << 3 <<"+"<< 4 <<"”
cout << 3 <<"+"<< 4 <<"”

<< 7 << endl;
"<< 3+ 4 << endl;
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#include <iostream>
using namespace std;

void main(void)

{

neum? o WEA e R 100 - A
int Num3: 314 — A 2 — A}, “abe” - wwANE
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Num1 = 100: AR AT, FH) S AHRSEe] At
Num2 = 200; A2 g sk

Num3 = Numl + Num2; <— _. ¢} 12k}, ,: 5l Al o Ak}
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cout << Numl << "+ " << Num2 << " =" << Num3 << endl;




int Q= int a;
double o 8 double b; 1.5
char EAHAE ) ] char c; ‘a’
bool E AHA 1 bool d; true
char H{ & =XK< 7+ char e[5]; “C++”

_



Fat7] 13141 double EFY S AH8-3HA H T,

E C:¥Windows¥syst... l"':"' o= -H )

1.1 = 2.2 = 2.42
A=ordE OFF 2L =2

1=
[ »

() P




#include <iostream>
using namespace std;

void main(void)
{
double NumT;
double Num2;
double Num3;

Numl = 1.1;
Num?2 = 2.2;
Num3 = Num1 * Num?2;

cout << Numl << "*" << Num2 << " =" << Num3 << endl;
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#include <iostream>
using namespace std;

void main(void)

{

int Num1, Numz2;
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108 + 208 = 360 Il

cout << "27He| A=l o
cin >> Num1 >> Num2; <—
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cout << Num1l <<" +"<<Num2 <<"="<<Numl + Num2 << endl;
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#include <iostream>
using namespace std;

void main(void)

{

double Num1, Num?2;

cout << "27He| Al
cin >> Num1 >> Num?Z;

cout << Numl <<" +"<<Num2 << " ="<<Numl + Num2 << endl;
cout << Numl <<"-"<<Num2 << " =" << Numl - Num2 << endl;
cout << Numl <<"*" << Num2 << " =" << Numl * Num2 << endl;

cout << Numl << " /"<<Num2 <<"="<<Num1l / Num2 << endl;
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int Sum(int x, inty) <

{
intz =Xx+y;
return z; <
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int Sum(int, int);
int Sum(int x, inty);
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#include <iostream>
using namespace std;

, S =
int Sum(int x, inty); < i:’: 51~ 5T o)
TE S T2 EEY ]

void main(void)
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{ Sl & = O r]l= ol&y
CA L RS Zal=s
cout << Sum(T, 2) << endl; < U:’: i mcoﬁb =Ry
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int Sum(int x, inty)
{ < 4 Al
intz =x +Yy;
return z;
}




o gtoll o] gk A (Call-by- Value)

#include <iostream>
using namespace std;

int Sum(int x, inty)

{
intz =x +y;
return z;

}

void main(void)

{
inta=3,b=4;
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cout << Sum(a, b) << endl;

_




I~ =
| =

3= Cale &= 2HA 8l H 2}

void main(void)

{

inta=3, b =4;

Calc(a, b);
Calc(1, 2);
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#include <iostream>
lusing namespace std;

void main(void)

{
inta =3, b =4;
Calc(a, b);
Calc(1, 2);

}

void Calc(int x, inty)
{
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cout <<
cout <<
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void Calc(int x, inty);

<< x +y<<endl
<< x -y << endl;

<< x *y << endl;
M-

<< (double) x / y << endl;
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d main(void) ZH AR g1, 00] ofd
E/OI main(voi / rue, false 23 —
cout.setf(ios_base::boolalpha); 4 @ true I
T o . . 181 : false _| |
cout << "4 :" << iskEven(4) << endl, H =50 ofS 5
cout << "101 : " << iskven(101) << endl; - i
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void main(void)
{
:EE 2(3 —3)?0:1: < a”} 3°] ¥ (true) 0] HH2H5] 1
- o} H (false) 10] w35
cout << b << endl;
}




y S 73N Q{C{, #include <iostream>
using namespace std;

bool isEven(int Num);

void main(void)
{
cout.setf(ios_base::boolalpha);
cout << "4 " << iskEven(4) << endl;
cout << "101 : " << isEven(101) << endl;

}

bool isEven(int Num)

{

bool RetValue;
RetValue = (Num % 2 == 0) ? true : false;
return RetValue;




